PHONES & EAR BUDS away Please!

Fri, Dec 1, 2017/

Pick up: DSQ

Today you will:

» RNA/Transcription Notes

» DNA vs RNA Amoeba Sisters
Homework/Planner:

» Quiz Tuesday!

» Turn in WB pages 126-134 Tuesday
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RNA vs.

RiboNucleic Acid .
1 Strand .
Sugar = Ribose .
The nitrogen bases are:

(Adenine - Uracil)

(Cytosine - Guanine)
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RNA DNA

DeoxyriboNucleic Acid
2 strands

Sugar = deoxyribose
The 4 bases are:




e Remember...... = A-T, C-G
e Remember......RNA = A-U, C-G

STEP 1: Make matching 1/2DNA..
ACG-GCA-TAA-GTA

STEP 2: Use original DNA as template, make RNA.
ACG-TCA-TAA-GTA

U U UU - U




